
Example 1: Magnitude

Transfer function in Bode form:
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Type 1 term:

I K0 = 2, n = −1 — it contributes a line of slope −1 passing
through the point (ω = 1,M = 2).

I This is a low-frequency asymptote: for small ω, it gives
very large values of M , while other terms for small ω are
close to M = 1 (since log 1 = 0).

Now we mark the break-points, from Type 2 terms:

I ω = 0.5 stable zero ⇒ slope steps up by 1

I ω = 10 stable pole ⇒ slope steps down by 1

I ω = 50 stable pole ⇒ slope steps down by 1




